Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

2, - x r @
r LI¥ G o = L
L : : : : : : = = L : : : : : :
1.8f-ieeee R I & il WA AR i | AR g $ 18 P 1 AR o AR e
o : sl : : : 3 o : P O : : :
r = I : 4
@ 1.6p----r---e- P T
= o : :
- i
=) Foo : : T
X 1A4feecreeees R
5 L : : +
5 L I S | |
12 : : 17 11

U TR U S O OJ--

0 =15 -10 -5 0 15 20 0-15-10 -5 0 5 10 15 20
rtex z (cm) Vertex z (cm) Vertex z (cm)

__'"'—u:)i irrat
:HZSEW IMP

0

Ratio
Ratio
=3

T

o o
©_©

2
NoFrT

. > F (%]

C : > F $

o : : 5] ST | R I S
1.8F----t---eene - 5 o

o : : : : : 3 >

[ : : : : : : : 3
R fr A T =

Fo : : : : : : @

71 SR N 0 4 £

L : : : : : e
12F- e IR A by

L : ¥ 1F : : °
Rt i (Lt L ERRE TS T
;] SRR SRR R ] deeeendeens s
TN N O A O U O U WS

RN FEETE FEEE | 11 RS FEETE PR 1 P AN AN ST AN Rl N
LAE T 3 5 o o +uor T T L > T T

Eo 1L T T o : 1 l: ’ + :

L AT ad a4 Lo . ATl & : :

E i Rt (ot Eh - £ i o N ESREREEER R
00 ---vkes--- E hT :
oabeei LR L GLITELTIELL L 0.950iei AL L IEL LT |: ;
=20 -15 -10 -5 O 5 10 15 20 15 20 =20 -15-10 -5 O 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

2 N 2 T 0 2 T
s 5 [ £ 8 I 1
1of S el g 14
1.6 R 5
1.4 - : : : : : : : =)
- S || SRS SRS S S o
1.2 A 1 | R T A E
L e
il LA4p-ehes N
08 S | T =
0.6 Lep l """ PN *
- S|
0.4 i l+‘r +?f¢..;...f¢.§‘??f¢ﬁ%:‘.., .....
0.2 L T AR A
PP UL A R SO TOUUE TR T T

1Q

%90 -15 -10 -5 0 5 10 15 20 -20 -15-10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

Ratio
Ratio

—f




	Contents
	Page 1


